d?c

d?o

pr(tn) ETEREIToN] pr(tn) STCAEITON]
[GeV] [pbGeV 1] [GeV] [pbGeV 1]
0<|y(t,) <05
0-40 0.382 4+ 0.004 +0.026  240-280  0.1276 % 0.0017 % 0.0075
40-80 0.850 + 0.006 +0.058  280-330  0.0669 & 0.0011 = 0.0041
80-120  0.860 + 0.006 +0.060  330-380  0.0343 = 0.0008 - 0.0024
120-160  0.622+ 0.005 +£0.043  380-450  0.0150 & 0.0005 - 0.0014
160-200 0394+ 0.003 £0.027  450-800 (259 + 0.12 =+ 0.28) x102
200-240  0.225 % 0.002 + 0.015 —
05 < |y(t)] < 1
0-40 0.337 + 0.004 +£0.027  240-280  0.1060 % 0.0016 - 0.0068
40-80 0.759 + 0.006 +0.054  280-330  0.0562 & 0.0010 == 0.0035
80-120 0766 + 0.005 +0.056  330-380  0.0287 = 0.0007 4 0.0024
120-160 0548 0.004 +£0.044  380-450  0.0131 % 0.0005 = 0.0015
160-200 0334+ 0.003 +£0.024  450-800 (177 + 0.10 =+ 0.20) x102
200-240  0.191 & 0.002 =+ 0.014 —
1<|y(t,)| <15
0-40 0269 + 0.004 +0.022  240-280  0.0770 + 0.0014 + 0.0061
40-80 0.603 & 0.006 & 0.046  280-330  0.0382 % 0.0009 == 0.0029
80-120 0583 & 0.005 +0.046  330-380  0.0176 = 0.0006 4 0.0014
120-160 0414+ 0.004 £0.035  380-450  (7.63+ 035 +0.79) x10°3
160-200 0252+ 0.003 £0.018  450-800 (1174 0.08 = 0.21)x10~3
200-240  0.143 £ 0.002 + 0.011 —
15 < |y(t,)| < 2.5
0-40 0.150 & 0.003 £0.015  240-280  0.0299 & 0.0008 = 0.0032
40-80 0.318 + 0.004 +£0.026  280-330  0.0144 4 0.0005 - 0.0015
80-120 0309 + 0.004 +£0.028  330-380 (5994 029 =+ 1.00)x102
120-160 0214+ 0.003 +£0.022 380450  (235+ 0.16 =+ 0.42)x10-2
160-200 0119+ 0.002 £0011  450-800 (263 + 031 =+ 0.51)x1074

200-240

0.0596 £ 0.0012 £ 0.0054



